/DVIRB

3UDFRZQLN 5RIN&aDG  GU "UR]JGHN ODEROHSV]D 7HUHVD 7\J

o
™
7N 7N 7N
ZXU\VIND VINRIQD GZ G
U "UR]GHN ODRIHSV]D ZXU\VIND VINRIQD GZ G GHPLQDUXP G\SRPRZH
THIHVD $% -3 U "UR]GHN ODRIHSV]D G ~UR]GHN ODRIHSVID
o & THHYD $ =3 :2)0 THHWD $ =3 :z)/
& -
7\6]
GHPLQDUXP G\SIRPRZH ™
GU "URJGHN ODIRIHSV]D
THIHVD $ =3 :z)/ SHNUHDFID UXFKRZD
E JUXSRZD Z GU = UR]GHN
ODRHSV]D 7HIHVD $
7\6] 3757 =
> (JIDPLQ GU "UR]GHN ODIRIHSV]D —
I THIHVD $% -3:)0 = 1
Z SHNUHDFID UXFKRZD JUXSRZD Z Gl
N -UIR]GHN ODiRHSVID 7THIHVD $ =3
757 z
7\6]
GHPLQDUX
P
G\SIRPRZH
Gl
= UR]GHN
ODRHSV]D
7HIHVD $
-3
D/
7N 7N 7N
2UIDQLIDFID L SUDZR Z ZXU\VIAND VINRIQD Z GU SHNUHDFID UXFKRZD
RGZIDFIH Z Gl "UR]GHN =UR]GHN OD{RIHSV]D JUXSRZD FZ Gl =UR]GHN
ODIRHSV]D 7HIHVD $% THIHVD $% -3 ODIRHSV]D 7HIHVD $%
=3:)/ - :)O0 z =375/ -
7N 7\6]
a . ZXU\VIAND VINRIQD GZ G SHNUHDFID UXFKRZD
O] ] U "UR]GHN ODiRIHSVID JUXSRZD FZ Gl ~URJGHN
& 2UJIDQUIDFI ZHIHVD $% =3 :) ODRHSV]D 7HIHVD $%
T DLSIDZR Z o & =375/ =
RGZIDFH
zZ G 7\6]
OUIZ?':FIQ?HHSNV 0 SHNUHDFID UXFKRZD
S 330/ JUXSRZD FZ Gl =UR]GHN
R ODIRHSV]D 7HIHVD $%
Ny =375/ &
- 7\6]
% G "UR]GHN ODRIHSVID 7HIHVD $
a
N 7\G]
T SHNUHDFID UXFKRZD JUXSRZD FZ GU =UR]GHN ODiRIHSVID 7HIHVD =3 7,5 /




/DVIRB

3UDFRZQLN 5RIN&aDG  GU "UR]JGHN ODEROHSV]D 7HUHVD 7\J

7\6]
7XI\VINND VINRIQD (DE GU *UR]GHN ODiRHSVID 7HIHVD =3 =) O /

7N\J
SHNUHDFID UXFKRZD JUXSRZD FZ GU *URJGHN ODéRIHSV]D 7HUIHVD =3 7,5 /

7\6] 7\6]
GU *URJGHN ODIRIHSV]D 7HIHVD $ GU *URJGHN ODIRIHSV]D 7HIHVD $

=DICFLD iHUIHQRZH
=DICFLD iHUIHQRZH | |

7\G]

6HPLQDUXP G\SIRPRZH
GU "URJGHN ODiRIHSV]D
THUHVD 3 1:)
/ z

= 7\G]
(% 7XU\VINND VINRIQD (DE GU "URJGHN ODéRIHSV]ID 7HUIHVD =3 =) O  /
=
n
7\J 7\J

7HRUHINF]QH SRGVIDZ\ 7HRUHINF]QH SRGVIDZ\

HGXN Il] LJGURZ Z GU HGXN Il] LJGURZ Z GU

“UR]JGHN ODiRIHSV]D “UR]JGHN ODi{RIHSV]D

THUHVD = =33/ THUHVD = -3 (3:

@G- = / z
7\G] 7\G]

7HRUHINF]QH SRGVIDZ\ 7HRUHINF]QH SRGVIDZ\

HGXN 1] LJGIRZ Z GU HGXN 1] LJGIRZ Z GU

“URJGHN ODiRIHSV]D “URJGHN ODiRIHSV]D

7HIHVD = =33/ 7HIHVD = -3 (3:

(@G: = / -
7\J 7\J
% 7HRUHINF]QH SRGVIDZ\ 7HRUHINF]QH SRGVIDZ\
5 HGXN Il] LJGURZ Z GU HGXN Il] LJGURZ Z GU
o “UR]JGHN ODiRIHSV]D “UR]JGHN ODiRIHSV]D
> THUHVD = 335 THUHVD = -3
@3: (3:-5 =

1




